Easter Addition

Solve the following word problems.

If Peter has 5 Easter eggs and his friend gives him
7 more, how many Easter eggs does Peter have in
total?

Jack has 5 chocolate bunnies in his Easter basket.
His friend gives him 6 more chocolate bunnies.
How many chocolate bunnies does Jack have
now?

John painted 4 Easter eggs in the morning. In the
afternoon, he painted 9 more. How many Easter
eggs did John paint in total?

In an Easter egg hunt, Lily found 7 eggs and her
brother found 5. How many eggs did they find in
total?

Peter has 5 Easter eggs. His brother gave him 8
more. How many Easter eggs does Peter have
now?

Maria has 6 Easter bunnies made of chocolate. Her
friend gives her 8 more. How many Easter bunnies
does Maria have now?

Tom found 9 Easter eggs in the park. He then
found another 4 in his backyard. How many Easter
eggs did Tom find in total?

In a basket, there are 5 yellow Easter eggs and 11
blue Easter eggs. How many Easter eggs are there
in total?




